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Is Section Default? : null

Question Id : 92090611751 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about climate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires: Isabel. a 16-year-old
climate activist, wants support due to ruminating about the eclimate erisis to the
extent that she can’t focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. However, most empirical studies on eco-
anxiety to date surveved the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it. clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water searcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support, community outreach, and
public engagement.

Media coverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and visually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090611752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety, its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2)  (B)only
(3) (C)only
{(4) (D)only

Options :

92090646401. 1
92090646402. 2
92090646403. 3
92090646404. 4

Question Number : 2 Question Id : 92090611753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090646405. 1
92090646406. 2
92090646407. 3
92090646408. 4

Question Number : 3 Question Id : 92090611754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
920906464009. 1
92090646410. 2
92090646411. 3
92090646412. 4

Question Number : 4 Question Id : 92090611755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090646413. 1
92090646414. 2
92090646415. 3
92090646416. 4

Question Number : 5 Question Id : 92090611756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090646417. 1
92090646418. 2
92090646419. 3
92090646420. 4



Question Id : 92090611751 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

Read the following passage and answer the next five questions by choosing the correct
option:

Mara, a 24-year-old university student, seeks help for anxiety. She describes
feeling paralyzed when thinking about elimate change and the future; Leon, 51 and a
father of three, requests treatment for panic attacks. They started last vear after he
and his family evacuated their home again due to wildfires; Isabel, a 16-year-old
climate activist, wants support due to ruminating about the climate crisis to the
extent that she can't focus on schoolwork.

The opening vignettes demonstrate that the climate change crisis is taking a toll
on people’s mental health. Uncertainty, unpredictability, and uncontrollability are
three fundamental characteristics of climate change. Recent reviews have shown that
the negative impacts of climate change are complex, manifest cognitively,
emotionally, and physically and affect behaviours, relationships, and overall well-
being. One such manifestation is anxiety related to the ongoing anthropogenic
climate change or ecological doom, referred to as eco-anxiety.

The condition overlaps with other mental health disorders in the form of negative,
and automatic reactions to a felt threat. Howewver, most empirical studies on eco-
anxiety to date surveyed the low-risk groups with smaller and unrepresentative
samples. Rigorous research is needed to more completely understand it, clarify its
distinet characteristics and contextual factors, and articulate its relationship with
other mental health conditions.

Experiences of eco-anxiety often include dystopian thoughts and apocalyptic
perceptions about the future, negative and sometimes intense emotions such as fear,
anger, guild, grief, and despair, as well as behavioural manifestations such as
insomnia and panic attacks. Causes and triggers of eco-anxiety vary from direct
exposure to traumatic extreme weather events like floods, hurricanes, and wildfires to
maladaptation to long-term environmental changes like land loss, water scarcity, and
pollution. It can also manifest in individuals without direct experience of climate
change, simply from the awareness of the potential existential threat it presents.

Health professionals are improving ways to communicate climate concerns. Their
voices are imperative for climate change communication and transformation.
However, the urgency and complexity of ecological and climate crisis demand an
interdisciplinary approach. Other disciplines can help advance these efforts by
providing opportunities for innovative thinking and practice, such as with a
sociological perspective regarding structures and connections in society; a political
scientific approach to tension, conflict, and social movement; and communication
strategies for patient-provider interaction, social support. community outreach, and
public engagement.

Media ecoverage of ecological crisis can evoke eco-anxiety. Current messages about
climate change are overwhelmingly negative, both linguistically and wisually,
contributing to a sense of doom and gloom. Hope is central to humanity’s survival and
flourishing. Yet some caution that hope alone is not a panacea.

Sub questions



Question Number : 1 Question Id : 92090611752 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Based on the information in the passage. it can be inferred that all of the following
statements are true EXCEPT:

(A) An interdisciplinary approach is required to facilitate communication
regarding climate change crisis.
(B) Linguistic and visual media provokes eco-anxiety.

(C)  Eco-anxiety. its characteristics and context have been fully understood through
extensive research.

(D) The negative impacts of climate change affect behaviour, relationships and
overall well-being.

Choose the correct answer from the options given below :

(1) (A) only
(2) (B)only
(3) (C)only
(4) (D)only

Options :

92090646401. 1
92090646402. 2
92090646403. 3
92090646404. 4

Question Number : 2 Question Id : 92090611753 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the words in List I with their meanings in List 11 :

List 1 List 1T
(A) Apocalyptic (I} Related to human existence
(B) Dystopian (II) Short piece of writing or
acting about a person, place
or event
() Existential (I1I) Prophesying a disaster or

total destruction

(D) Vignettes (IV) Relationship to an imagined
society in which there is
suffering and injustice

Choose the correct answer from the options given below:

(1) (A)-IV), (B)-(1LI), (C)-(11), (D)-(1)
(2) (AL, (B)-(1D), (C)-(IV), (D)-(D)
(3) (AR, (B)-IV), (C)-(D, (D)-(1I)
(4) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)

Options :

92090646405. 1
92090646406. 2
92090646407. 3
92090646408. 4

Question Number : 3 Question Id : 92090611754 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hope is central to humanity's survival and flourishing. Yet some caution that hope
alone is not a panacea”.

Through the underlined segment the writer is trying to:

(1) instil fear about the seriousness of the problem of Eco-anxiety
(2)  warn that issue of Eco-anxiety can’t be taken lightly or ignored.
(3) assure that hope will resolve the issue of Eco-anxiety.
(4) mock the idea that hope and an optimistic approach ean resolve the issue of
Eco-anxiety.
Options :
920906464009. 1
92090646410. 2
92090646411. 3
92090646412. 4

Question Number : 4 Question Id : 92090611755 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

Match List 1 with List 1l to complete the information on the basis of your reading
from the passage.

List [ List I1
(A) Manifestation of the negative (I) Intense emotions like fear, grief,
impact of climate change anger and lusomnia

(B) Experience of Eco-anxiety includes  (1I) Exposure to extreme weather and
maladaptation to environmental

changes

(C) Triggers of Eco-anxiety (III) Uncertainty, Unpredictability,
uncontrollability

(I} Fundamental characteristics of (IV) Cognitive, emotional and physical

climate change

Choose the correct answer from the options given below:

(1) (A)-(ILT), (B)-(IV), (C)-(D), (D)-(1I)
(2)  (A)-(IV), (B)-(ID), (C)-(111), (D)-(D)
(3)  (A)-IV), (B)-(D), (C)-(11), (D)-(11L)
(4)  (A)-(D, (B)-(I1D), (C)-(IV), (D)-(T)

Options :

92090646413. 1
92090646414. 2
92090646415. 3
92090646416. 4

Question Number : 5 Question Id : 92090611756 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Eco-anxiety can also manifest in individuals without direct experience of climate
change. This happens because of :
(1) their unstable mental health condition
(2)  they watch excessively negative media messages
(3)  they are fully aware of the potential existential treat it presents

(4) they are poor communicators and do not share their fears with health
professionals

Options :

92090646417. 1
92090646418. 2
92090646419. 3
92090646420. 4

Sub-Section Number : 2
Sub-Section Id : 920906387



Question Shuffling Allowed :
Is Section Default? :

Yes
null

Question Number : 6 Question Id : 92090611757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match the blanks in List | with the appropriate phrasal verb in List 11 :

(A)

Choose the correct answer from the options given below:

(1)
(2)
(3)
(4)

Liat 1

Students usually speak
French during class by
occasionally English.

The English professor

wanted t - the
importance of additional
reading to his students

Capital punishment
was several years ago
in Britain.

1 with my brother
over a trifle.

List I1
() fell-out

(II) lapse into

(I1I) done away with

(IV) drive home

(A)-(L1T), (B)-(1I), (C)-(D), (D)-(IV)
(A)-(11), (B)-(IV), (C)-(1), (D)-(111)
(A)-(L), (B)-(1V), (C)-(11), (D)-(111)
(A)-(11), (B)-(IV), (C)-(11I), (D)-(I)

Options :

92090646421. 1
92090646422. 2
92090646423. 3
92090646424. 4

Question Number : 6 Question Id : 92090611757 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the blanks in List | with the appropriate phrasal verb in List 11 :

List [ List II

(A) Students wusually speak (I) fell-out
French during class by
occasionally English.

(B) The English professor (lI) lapse into
wanted to _ the

importance of additional
reading to his students

(C) Capital punishment (IlI) done away with
was___ several years ago
in Britain.

) | with my brother (IV) drive home
over a trifle.

Choose the correct answer from the options given below:

(1) (A)-(111), (B)-(1I), (C)-(I), (D)-(IV)
(Z) (A)-(11). (B)-(IV). (C)-(I), (D)-(111)
(3) (A)-(D), (B)-(IV), (C)-(11), (D)-(111)
(4) (A)-(11), (B)-(1V), (C)-(11I), (D)-(I)

Options :

92090646421. 1
92090646422. 2
92090646423. 3
92090646424. 4

Question Number : 7 Question Id : 92090611758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3)  IDIOSYNCRASY (4) IDAOOSYNCRASY

Options :

92090646425. 1
92090646426. 2
92090646427 3
92090646428. 4

Question Number : 7 Question Id : 92090611758 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The correctly spelt word from the given options is:-

(1) IDEOSYNCRASY (2) IDEOSINCRASY
(3) IDIOSYNCRASY (1) IDAOOSYNCRASY

Options :

92090646425. 1
92090646426. 2
92090646427 3
92090646428. 4

Question Number : 8 Question Id : 92090611759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia ___ an
accused _ a case concerning irregularities in the excise policy for the first time.

(1) in, on, as, in (2) in, with, as, in
(3) in, on, with, for (4) in, on, in, as
Options :

92090646429. 1
92090646430. 2
92090646431. 3
92090646432. 4

Question Number : 8 Question Id : 92090611759 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fill in the blanks with appropriate prepositions from the options given below:

ED had filed the fifth chargesheet _ the case _ May 4 and named Sisodia __ an
accused _ a ease conecerning irregularities in the excise policy for the first time.
(1) in, on, as, in (2) in, with, as, in

(3 in, on, with, for {(4) in, on, in, as

Options :

92090646429. 1
92090646430. 2
92090646431. 3
92090646432 4



Question Number : 9 Question Id : 92090611760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology
Options :

92090646433. 1
92090646434. 2
92090646435. 3
92090646436. 4

Question Number : 9 Question Id : 92090611760 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
An admirably stylish manner of doing things effortlessly:

(1) Pariah (2) Panache
(3) Perjury (4) Petrology

Options :

92090646433. 1
92090646434. 2
92090646435. 3
92090646436. 4

Question Number : 10 Question Id : 92090611761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Synonym of the word "TRAIT is ;

(1) Symbol (2) Characteristic
(3) Colour (4)  Habit

Options :

92090646437. 1
92090646438. 2
92090646439. 3
92090646440. 4



Question Number : 10 Question Id : 92090611761 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Svnonym of the word "TEAIT is :

(1) Symbol (2) Characteristic
(3 Colour (4) Habit
Options :

92090646437. 1
92090646438. 2
92090646439. 3
92090646440. 4

Question Number : 11 Question Id : 92090611762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

b
|

(1)

=
]
e

-

(]
Lh
(S8

]

(3) (4)

|
Lh | an

Options :

92090646441. 1
92090646442. 2
92090646443. 3
92090646444. 4

Question Number : 11 Question Id : 92090611762 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If cos B =l_ﬂ . then find the value of cot 8:

b
|

(1)

=
]
e

-

(]
Lh
(S8

]

(3) (4)

|
Lh | an

Options :
92090646441. 1



92090646442. 2
92090646443. 3
92090646444. 4

Question Number : 12 Question Id : 92090611763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 (2) 24
(3 30 (4) 33
Options :

92090646445. 1
92090646446. 2
92090646447. 3
92090646448. 4

Question Number : 12 Question Id : 92090611763 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A journey takes 35 minutes while moving with a speed of 32 km/h. How long would
the journey take (in minutes) moving at a speed of 40 km/h?

(1) 28 2y 24
(3) 30 (4) 33
Options :

92090646445. 1
92090646446. 2
92090646447. 3
92090646448. 4

Question Number : 13 Question Id : 92090611764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ananva bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.

(1) 12.5 (2) 15
(3) 16 {4y 20
Options :

92090646449. 1



92090646450. 2
92090646451. 3
92090646452. 4

Question Number : 13 Question Id : 92090611764 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ananya bought a shirt marked for ¥ 1,000 and paid ¥ 714 after availing two
successive discounts of 15% and x%. Find the value of x.
(1) 12.5 2) 15
(3) 16 (4) 20

Options :

92090646449. 1
92090646450. 2
92090646451. 3
92090646452. 4

Question Number : 14 Question Id : 92090611765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A cone of height at 24 em and base radius 6 em is made of modelling clav. A child
reshapes it in the form of a sphere. The radius of the sphere is:
(1) 1 em (2) 2cm
() 6 cm {(4) Bcm

Options :

92090646453. 1
92090646454. 2
92090646455. 3
92090646456. 4

Question Number : 14 Question Id : 92090611765 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A cone of height at 24 em and base radius 6 em is made of modelling clav. A child
reshapes it in the form of a sphere. The radius of the sphere is:

(1) 1em (2) 2em
(3) 6 cm (4) SBem

Options :



92090646453. 1
92090646454. 2
92090646455. 3
92090646456. 4

Question Number : 15 Question Id : 92090611766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of ¥ 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) < 2,400 {2y 5,000
(3) 5300 (4) 2,700

Options :

92090646457. 1
92090646458. 2
92090646459. 3
92090646460. 4

Question Number : 15 Question Id : 92090611766 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sum of ¥ 7,700 is lent on simple interest in two parts in such a way that the interest
on the first part at 20% p.a. for 5 years is equal to the interest on the other part at 9%
p.a. for 6 years. Find the smaller part of the sums lent in two parts.

(1) < 2,400 {2y 5,000
(3) 5300 (4) 2,700

Options :

92090646457. 1
92090646458. 2
92090646459. 3
92090646460. 4

Question Number : 16 Question Id : 92090611767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which interchange of signs in the equation which when made will make the equation
correct.

20+20+20—-20x 20 =20

(1) + and + (2} +and-—
(3) +andx (4) = and+
Options :

92090646461. 1
92090646462. 2
92090646463. 3
92090646464. 4

Question Number : 16 Question Id : 92090611767 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which interchange of signs in the equation which when made will make the equation
correct.

20420+ 20 - 20 x 20=20

(1) + and + (2) + and-
(3 + and x {4) » and =+
Options :

92090646461. 1
92090646462. 2
92090646463. 3
92090646464. 4

Question Number : 17 Question Id : 92090611768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 7

(1) 5763 (Z) 8764
(3) 7764 (4) 7763
Options :

92090646465. 1
92090646466. 2
92090646467. 3
92090646468. 4



Question Number : 17 Question Id : 92090611768 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which value can come at place of ?, which will give same relationship on the left and
right side of :: ?

5369 : 4258 :: 9875 : 7
(1) 5763 (2) B764
(3) TT64 (4) 7763
Options :
92090646465. 1
92090646466. 2

92090646467. 3
92090646468. 4

Question Number : 18 Question Id : 92090611769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That boy playing is the yvounger of two brothers of the daughter
ol my Father's wile”. How 18 the buy who 18 playving is related to Milind:

(1) Brother (2) Brother-in-law

(3) Son (4) Cousin

Options :

92090646469. 1
92090646470. 2
92090646471. 3
92090646472. 4

Question Number : 18 Question Id : 92090611769 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Milind said to Monu, “That bov playing is the vounger of two brothers of the daughter
ol my father's wife”. How 13 the buy who 18 playing 18 related to Milind:

(1) Brother (2) Brother-in-law
(3) Son (4) Cousin
Options :

92090646469. 1
92090646470. 2



92090646471. 3
92090646472. 4

Question Number : 19 Question Id : 92090611770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit
(2)  If only assumption I is implicit
(3) If neither I nor 11 is implicit

(4) If both assumption I and 1l are implicit

Options :

92090646473. 1
92090646474. 2
92090646475. 3
92090646476. 4

Question Number : 19 Question Id : 92090611770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the statement and decide which of the assumption is implicit in the
statement:

Statement : A physics teacher in the class announced to keep a copy of

“Principles of physics” written by Haliday Resnick.

Assumptions:
(I} Ewery student can afford to buy the book.

(II) The book is well-written

(1)  If only assumption I is implicit
(2)  If only assumption Il is implicit
(3 If neither I nor 11 is implicit
(4) If both assumption I and 1l are implicit
Options :
92090646473. 1
92090646474. 2
92090646475. 3
92090646476. 4

Question Number : 20 Question Id : 92090611771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(By All chairs are chalks.
Conelusions : (I) Some pens are chairs,

(II) Some chalks are pens.

(1)

If conclusion (D) follows
(2) If conclusion (1) follows
(3) If either conclusion (I) or (II) follows

(4) Both conclusion (1) and (1) follows

Options :

92090646477. 1
92090646478. 2
92090646479. 3



92090646480. 4

Question Number : 20 Question Id : 92090611771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which conclusion would follow on the basis of given statements:

Statements : (A) All pens are chalks.
(B) All chairs are chalks.

Conclusions : (I) Some pens are chairs.

(IT) Some chalks are pens.

If conclusion (1) follows
(2) If conclusion (11) follows
(3 If either conelusion (1) or (IT) follows

(4) Both coneclusion (1) and (I1) follows

Options :

92090646477. 1
92090646478. 2
92090646479. 3
92090646480. 4

Question Number : 21 Question Id : 92090611772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3) Vindhyan Range (4) Satpura Hills
Options :

920906464381. 1
92090646482. 2
92090646483. 3
92090646484. 4

Question Number : 21 Question Id : 92090611772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which feature acts as a watershed between the Indus and Gangetic river basins?

(1) Aravalli Ridge (2) Shivalik Hills
(3)  Vindhyan Range (4) Satpura Hills

Options :

92090646481. 1
92090646482. 2
92090646483. 3
92090646484. 4

Question Number : 22 Question Id : 92090611773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List 1 List 11
(Name of committee) (Various sector of India
Economy)
(A) Bimal Jalan Committee (I) Corporate Governance

(B) Birla Committee (I) Improving national
highways in India

(”y S R Harhim Committee (111} Urban poverty

(DY Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(1D), (B)-(I1I), (C)-(IV), (D)-(I)
(2) (A)-(I), (B)-(IV), (C)-(111), (D)-(11)
(3) (A)-(IV), (B)-(I), (C)-(111), (D)-(11)
(4) (A)-(1V), (B)-(I), (C)-(1I), (D)-(111)

Options :

92090646485. 1
92090646486. 2
92090646487. 3
92090646488. 4

Question Number : 22 Question Id : 92090611773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List | with List 11 :

List 1 List 11
(Name of committes) {(Various sector of India
Economy)
(A) Bimal Jalan Committee (I} Corporate Governance

(By Birla Committee (II) Improving national
highways in India

(Cy SR Harhim Committee (111} Urban poverty

(DY Chaturvedi (IV) Market infrastructure
Instruments

Choose the correct answer from the options given below:

(1) (A)-(11), (B)-(11D), (C)-(IV), (D)-(L)
(2) (A)-(L), (B)-(IV), (C)-(111), (D)-(11)
(3) (A)-(IV), (B)-(), (C)-(111), (D)-(11)
(4) (A)-(1V), (B)-(L), (C)-(11), (D)-(11L)

Options :

92090646485. 1
92090646486. 2
92090646487. 3
92090646488. 4

Question Number : 23 Question Id : 92090611774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT) (4) Port

Options :

92090646489. 1
92090646490. 2
92090646491. 3
92090646492. 4

Question Number : 23 Question Id : 92090611774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



‘Digi Yatra’ facility has been implemented at in the country.

(1) Railway station (2) Airport
(3) Inter State Bus Terminal(ISBT} (4) Port

Options :

92090646489. 1
92090646490. 2
92090646491. 3
92090646492. 4

Question Number : 24 Question Id : 92090611775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fiven below are two statements

Statement [ . Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement II  : Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement | and Statement Il are incorrect
(3) Statement I is correct but Statement 11 is incorrect

(4) Statement [ ig incorrect but Statement Il iz correct

Options :

92090646493. 1
92090646494. 2
92090646495. 3
92090646496. 4

Question Number : 24 Question Id : 92090611775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement I : Gross Domestic product (GDP) is the final value of the goods and
services produced within the geographical boundaries of a country
during a year.

Statement I  :  Net Domestic Product (NDP) equals to the GDP plus depreciation
(value loss of an asset) on country capital goods

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both Statement | and Statement Il are correct
(2) Both Statement [ and Statement 1l are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

(4) Statement I is incorrect but Statement 1 is correct

Options :

92090646493. 1
92090646494. 2
92090646495. 3
92090646496. 4

Question Number : 25 Question Id : 92090611776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning

(3 Tele medicine {4) Aadhar based digital signature

Options :

92090646497. 1
92090646498. 2
92090646499. 3
92090646500. 4

Question Number : 25 Question Id : 92090611776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The ‘GEM’ portal of Government of India deals with

(1) Public Procurement (2) Distance learning
(3) Tele medicine {4) Aadhar based digital signature
Options :

92090646497. 1
92090646498. 2
92090646499. 3
92090646500. 4

Part B: Electronics Communication and Information Engineering

Section Id : 920906234
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906388
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 26 Question Id : 92090611777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If u =Iagtan{§ + g] then the value of tanhg will be equal to

1. tanb
2. 2tan®
3. tan20
4. tan 5
2
Options :

92090646501. 1



92090646502. 2
92090646503. 3
92090646504. 4

Question Number : 26 Question Id : 92090611777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 3
gfg u:lﬂgtan[% ; E1Eﬁ’ wnhgﬁﬂﬁﬂm?

2)
(1) tan® (2) 2tan®
(3) tan20 (4) tan g
Options :

92090646501. 1
92090646502. 2
92090646503. 3
92090646504. 4

Question Number : 27 Question Id : 92090611778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The required solution of {x2 - y'2 - 22}p+ 2xyq = 2xz, will be
: xz—y2—22=zﬂy!z}
2. x2+y2+22=zﬁyz}
3. x2+y2+Z22==(ylz)

4, x2—y2_22-z(zly)

Options :

92090646505. 1
92090646506. 2
92090646507. 3
92090646508. 4

Question Number : 27 Question Id : 92090611778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(x2—y2 —22)p+ 2xyq = 2xz F1 ILAF gl T EN?

(M x2—y? -2 -z(ylz) @ x2+y? 2% ==(yz)
3) x2+y2iZ2=z(ylz) @ x2_y2_22=z2(zly)
Options :

92090646505. 1
92090646506. 2
92090646507. 3
92090646508. 4

Question Number : 28 Question Id : 92090611779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

1+a 1 1 1

SO © ;
is equal to
1 1 1+¢
1 1 1 1+d
1 i1 3. 13 4
1. —|1+—+—+—+=
abcd( a b c G‘J

2. abcd(1+a+b+c+d)

abcd{1+a+b+c+dl

4. abcd{1+i+i+l+i]
& e d

Options :

92090646509. 1
92090646510. 2
92090646511. 3
92090646512. 4

Question Number : 28 Question Id : 92090611779 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

(
M —Jl 119 (2) abecd(1+a+b+c+d)
abed', & b ¢ d)
1 1 1 1)
3 4 abcdf1 —t =t —t—
(3) sbcd“ a+b+c+d) (4) Mt d}|
Options :

92090646509. 1
92090646510. 2
92090646511. 3
92090646512. 4

Question Number : 29 Question Id : 92090611780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In a game, the chances of wining of ‘A’and '‘B’is 2 : 3. The chances of wining of
B of at least 3 games out of 5 games played is

1. 34%
2. 68%
3. 40%
4. 32%
Options :

92090646513. 1
92090646514. 2
92090646515. 3
92090646516. 4

Question Number : 29 Question Id : 92090611780 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fpeft @a H '4 3R '8’ & offa I GHIETISH BT SFUd 2: 381 OfE paa s @a Qe wE dl '8
& $U Y HH 3 Wd olia- S Juran wfawa o) #ngrfle

(1) 34% @) 68%

(3)  40% @ 32%

Options :
92090646513
92090646514

92090646515.
92090646516.

AW N =

Question Number : 30 Question Id : 92090611781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Laplace transform and Z-transform are related by

1. &=InZ
InZ
2. S=—
-
4. &=Z
4. S=TinZ
Options :

92090646517. 1
92090646518. 2
92090646519. 3
92090646520. 4

Question Number : 30 Question Id : 92090611781 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
AT TR 3R z-=uiaR o Wefda 82

1)  S=Inz gy gl

T
3] &=2Z 4 S=TInzZ
Options :

92090646517. 1
92090646518. 2



92090646519. 3
92090646520. 4

Question Number : 31 Question Id : 92090611782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A 100 uF capacitor (Cy) is initially charged to accumulate150 uC. One
unchanged capacitor (C;) 350 pF is parallelly connected to first one. In steady
state, Cy will have

1. 333 uC

2. 3333 uC

3. 3333 uC

4. 033 pC
Options :

92090646521. 1
92090646522. 2
92090646523. 3
92090646524. 4

Question Number : 31 Question Id : 92090611782 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U& 100 pF (C;) & Gufea &1 150 puC 1A &1 Tird S & forg urky A smafra faan s

21 TP 350 uF (C,) F AR Juiia &1 ugd Juila & 1y gaiar 9 A SIST ol &
QI R ¢, P A R gm?

(1) 3.33 uC (2} 3333 uC
(3) 3333 pC (4) 033 pnC
Options :

92090646521. 1
92090646522. 2
92090646523. 3
92090646524. 4

Question Number : 32 Question Id : 92090611783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

For the circuit given below, Thevenin's equivalent impedance (Zq,,) of the circuit
is given as
5Q —-50 B/ 50

—AWN—] | mr— —— X
Q2
5020° (~)
B0
o Y
1. 5+j5Q
2. 5-j50
3. j50Q
4. 50
Options :

92090646525. 1
92090646526. 2
92090646527. 3
92090646528. 4

Question Number : 32 Question Id : 92090611783 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fau e fagga ufvgy & ufvay & 43717 qea ufterun &1 o= &1 g
50 -5Q 50 -j5O

—o X
50
50h°
BO
o Y
(1) 5+j50Q (2 5-j50
3) Jj5G 4 50

Options :

92090646525. 1
92090646526. 2
92090646527. 3
92090646528. 4



Question Number : 33 Question Id : 92090611784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For the circuit shown in the figure, the inductance across X-Y'is

2H
X o i} ,
M
2H g 2H

Y o
1 1H
2 0DaH
3. 18H
4. 2H

Options :

92090646529. 1
92090646530. 2
92090646531. 3
92090646532. 4

Question Number : 33 Question Id : 92090611784 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

few o fagga ulay & x-v & &9 IRea &1 9 | 8

2H
Xo i)
2H 2H
Yo
(1) 1H (2) 08H
(3) 18 H 4 2H

Options :



92090646529. 1
92090646530. 2
92090646531. 3
92090646532. 4

Question Number : 34 Question Id : 92090611785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Value of R such that the circuit, shown below, is resonant
R j3Q

l_
5Q -j6Q

2. 6430
3. 4630
4. 20

Options :

92090646533. 1
92090646534. 2
92090646535. 3
92090646536. 4

Question Number : 34 Question Id : 92090611785 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

'R & forg A & forg, faan man ufvgy erardl €

R j30
|_
5Q —-j6Q
(1) 50 (2) 6430
(3) 4630 4 20

Options :
92090646533. 1



92090646534. 2
92090646535. 3
92090646536. 4

Question Number : 35 Question Id : 92090611786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If Port-2 of a 2—port network is terminated with 73 Q2 and ABCD parameter of
2-port network are A=C=3, B=5 and D=-2; input impedance of that
network is

1. T30

2. B0a

3. 1030

4. 1480
Options :

92090646537. 1
92090646538. 2
92090646539. 3
92090646540. 4

Question Number : 35 Question Id : 92090611786 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe frdt 2-vgr (rd) ufioy &1 UgR (@1d)-2, 73 @ & UfeRiy & 91y eXfiAe g1a1 ¢ 30 2-
UgR (01¢) uRuy & ABCD U ®, A=C =3, B=5 3R p =2 o uftuy &} 3w ufdemn
&1 {31 g2

(1) 730 (2} 500
(3) 1030 (4 1480
Options :

92090646537. 1
92090646538. 2
92090646539. 3
92090646540. 4

Question Number : 36 Question Id : 92090611787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

A voltage of 100 V dc is applied across two capacitors in series having
capacitances Cy =200 pF and C, =20 uF. A voltage drop across C, is given as

1. 8182V

2. 8182V

3. 1818V

4. 1818V
Options :

92090646541. 1
92090646542. 2
92090646543. 3
92090646544. 4

Question Number : 36 Question Id : 92090611787 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

goft 1 A §S C; =200 pF AR C, =20 pF uifen & & dufet @ oe 100 vV B 3y dieew
RifYd fea 8. ¢, & v diecs aH fbam grme

(1) g182v (2) 8182V
(3) 1.818V (4 1818V
Options :

92090646541. 1
92090646542. 2
92090646543. 3
92090646544. 4

Question Number : 37 Question Id : 92090611788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For a circuit shown below, when switch is closed, the current /,(s) is (assume

i(0”)=0)

k
RS

2v - ﬁﬂ)lgﬁﬂ @ﬂl§ﬁﬂ

1

1. / =
25)=5155
3 B —
T 2% T (s +25)
5
3. Iy(s)=
Ly
s+25
4. |s(s5)=
2(s) s(s+5)
Options :

92090646545. 1
92090646546. 2
92090646547. 3
92090646548. 4

Question Number : 37 Question Id : 92090611788 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



few e ufvgy ¥, oid e o1 &< favan oran € ot fagga uRT Iy(s) &1 8F F1 g
(HHT i(0™) =0))

-k
5 R
2V= LD Jéasz ia(f) l§ 50
() his)= ! 2y i {53=;
2T 5125 2 s(s+2.5)
5 5+25
3) FE{SJ_S-ILE_E @) ;2{51_5{3+5}
Options :

92090646545. 1
92090646546. 2
92090646547. 3
92090646548. 4

Question Number : 38 Question Id : 92090611789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Identify the correct sketch of uw(-n).

ul=r1)
1 .
o I
0 o
- )
2.
b 7 W e
(= n)
] [L
< o >
- n)
4. 54§ W g
S ) [
Options :

92090646549. 1
92090646550. 2
92090646551. 3
92090646552. 4

Question Number : 38 Question Id : 92090611789 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



i-'[—f?]
(1) 1s .
: 11—
:ﬁ_nl
2) ol oo ue o
Al Ll
Tu{—n]
(3) 1 1
e,
w—n
N I
Options :

92090646549. 1
92090646550. 2
92090646551. 3
92090646552. 4

Question Number : 39 Question Id : 92090611790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



A signum function x(t) is represented by

A X(f)
1:
—te >t
A X(f)
1
2 —f= >t
-1
 X(1)
3. 1
—te >t
x(t)
N
e >t
Options :

92090646553. 1
92090646554. 2
92090646555. 3
92090646556. 4

Question Number : 39 Question Id : 92090611790 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U g wod &) fead ueffa fem o &

a2 X(f)
(1)
—f= >t
A X(f)
1 |—
_f = = f
2 »
2 X(t)
—t=< =
x(t)
—t= >

Options :

92090646553. 1
92090646554. 2
92090646555. 3
92090646556. 4

Question Number : 40 Question Id : 92090611791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The conduction band edge, E, in a semiconductor represents

1. electron potential energy

2.  electron Kinetic energy

3.  hole potential energy

4.  hole kinetic energy
Options :

92090646557. 1
92090646558. 2
92090646559. 3
92090646560. 4



Question Number : 40 Question Id : 92090611791 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

US iards &1 916+ o8 'E, BR a1 UTdl 82

(1) gaeeH fufas Sl 2) gageH Tfde Hat
3) P fRfas Seit (4) B TS FHal
Options :

92090646557 1
92090646558. 2
92090646559. 3
92090646560. 4

Question Number : 41 Question Id : 92090611792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Maximum electric field in a P-N junction in equilibrium is located

1. at the junction

2.  inthe P-type region

3. inthe N-type region

4.  at the metallic contacts
Options :

92090646561. 1
92090646562. 2
92090646563. 3
92090646564. 4

Question Number : 41 Question Id : 92090611792 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



v p-n | (e @ wreTaen #, sfbeon Rgga & sl fRua gim 87

(1) HfY ) W) 2) p-eEUETH
(3) ncRUEAH (4) I-¥UF W
Options :

92090646561. 1
92090646562. 2
92090646563. 3
92090646564. 4

Question Number : 42 Question Id : 92090611793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
In a silicon sample doped with N-type impurities, the Fermi level (Eg) is situated
0.35 eV away from the intrinsic Fermi level (E;). If the energy bandgap (Eg ) of

silicon at 300 K is considered to be 1.10 eV, what is the separation between the
Fermi level (Eg) and the valence band edge (E/)?

1. 0.20eV

2. 030eV

3. 145eV

4. 0.90eV
Options :

92090646565. 1
92090646566. 2
92090646567. 3
92090646568. 4

Question Number : 42 Question Id : 92090611793 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U ffasA T & N-23Y sugs I omifisd fran orar € e wif s (g;) @
wHl TR (E)0.35 ev X R4d €1 1 Riferpla &1 Soif s ofaRTa (£,,), 300 K A W 1.10
eV & dl il ¥R £ IR Wedd 98 £, & &9 o gl & gnft

(1) 0.20 eV (2) 030eV
(3) 145 eV (4) 090eV



Options :

92090646565. 1
92090646566. 2
92090646567. 3
92090646568. 4

Question Number : 43 Question Id : 92090611794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which quadrant of the current-voltage characteristic does a solar cell operate?

1. First

2. Second

3. Third

4. Fourth
Options :

92090646569. 1
92090646570. 2
92090646571. 3
92090646572. 4

Question Number : 43 Question Id : 92090611794 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
TS Orer O, faggd-ur fava @reean siftraern & g aqufa & =ifea 32

(1) Ued 2) TW
3) dR 4) 9
Options :

92090646569. 1
92090646570. 2
92090646571. 3
92090646572. 4

Question Number : 44 Question Id : 92090611795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The characteristics of an ideal op-amp are (where BW = Bandwidth, SR = Slew
Rate)

1. BW=» CMRR=x,SR=x®

2. BW=«,CMRR=x,SR=0

3. BW=«, CMRR=0,SR=0

4. BW=x, CMRR=0,SR==
Options :

92090646573. 1
92090646574. 2
92090646575. 3
92090646576. 4

Question Number : 44 Question Id : 92090611795 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U e op-amp & fifdem g -

(T8l BW = & B ST, SR = §d LAY

(1) BW = oo, CMRR = oo, 5R = 20 (2) BW=co, CMRR = oc,SR=0
(3) BW =, CMRR=0,5R =0 (4) BW=o, CMRR=0,5R = =
Options :

92090646573. 1
92090646574. 2
92090646575. 3
92090646576. 4

Question Number : 45 Question Id : 92090611796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The average value of V,(t) of the given circuit will be
D

K o+

Vi, Sin et Gv) § R Vi (+)

1 0
2 mkhl
i
3, Vm
V2
4 % Vm
Options :

92090646577. 1
92090646578. 2
92090646579. 3
92090646580. 4

Question Number : 45 Question Id : 92090611796 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ferw e forgga ufvay & v, (1) @1 ofiea HHE & g
D

Ki o+

V.., Sin ot @) § R V, (+)

M o @ -z
n
@ - V—E @ Vi

Options :

92090646577. 1
92090646578. 2
92090646579. 3
92090646580. 4



Question Number : 46 Question Id : 92090611797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The correct full-wave rectifier circuit is

Input
1. *
Qutput
!
Input
2.
Input
3.
Output
!
Input
4.
Options :

92090646581. 1
92090646582. 2
92090646583. 3
92090646584. 4

Question Number : 46 Question Id : 92090611797 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

a1 |1 3fea gof o feperd afvay & axfar 87

Input
(1) Output

Input

(2) Cutput

Input

(3) Output

Input

(4) Cutput

SoRR

Options :

92090646581.
92090646582.
92090646583.
92090646584.

AW N —

Question Number : 47 Question Id : 92090611798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



For the monostable multivibrator timer 555 circuit with R4 =7.5kQ and
C =0.1uF, find out the period of the output waveform.

1. 0.325ms

2. 0625ms

3 0.125ms

4. 0825 ms
Options :

92090646585. 1
92090646586. 2
92090646587. 3
92090646588. 4

Question Number : 47 Question Id : 92090611798 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ry =75kQ @ C=01uF% AFRTd AeclaReey W 555 URuy & fm fefa TORST &I
SfTadeTd HId HIfer:

(1) 0.325 ms (2) 0.625 ms
(3) 0.125 ms (4) 0.825ms
Options :

92090646585. 1
92090646586. 2
92090646587. 3
92090646588. 4

Question Number : 48 Question Id : 92090611799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The frequency of oscillations at the output of an astable multivibrator using
Schmitt trigger directly depends on

1. delay
2.  product of resistor and capacitor (RC)
3. resistor, R, only

4.  capacitor, C, only

Options :

92090646589. 1
92090646590. 2
92090646591. 3
92090646592. 4

Question Number : 48 Question Id : 92090611799 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Us Tadferd agaiua forad fRre forr &1 g gan €, 39& fHfd W Siem &t snafv A fag
W R &t 87

(1) fdew @ ufaRe 3R Hela & UFEd R (RO
3) $dd UfeRIYR TR (4) HaaGYiE c e
Options :

92090646589. 1
92090646590. 2
92090646591. 3
92090646592. 4

Question Number : 49 Question Id : 92090611800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An m : n decoder is used to enable 16 devices. The value of mis

1. 16
2. 8
3. 2



Options :

92090646593. 1
92090646594. 2
92090646595. 3
92090646596. 4

Question Number : 49 Question Id : 92090611800 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TF m: o [a@1es &1 Sudr i@t A a1 81 m 1 9F T8 T

(1) 16 2) 8
B3 2 (4) 4
Options :

92090646593. 1
92090646594. 2
92090646595. 3
92090646596. 4

Question Number : 50 Question Id : 92090611801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sample-and-hold circuit consists of

1. unity gain amplifiers and capacitors

2.  resistors only

3.  inductors only

4. XOR logic gates
Options :

92090646597. 1
92090646598. 2
92090646599. 3
92090646600. 4

Question Number : 50 Question Id : 92090611801 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Ue Uldegl-aiR-gt M ufay @me-ts-gics ufuy) feg s a1 g g2

(1) USHd dlel Yadd &1 (2) Hdd UlcRTe &
(3) &Hdd IS BT (4) XOR T gRI (1e) &I
Options :

92090646597. 1
92090646598. 2
92090646599. 3
92090646600. 4

Question Number : 51 Question Id : 92090611802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A D flip-flop can be operated in toggle mode by connecting

1. Dand Q

2 D and clock

3. QandD

4. Qand @
Options :

92090646601. 1
92090646602. 2
92090646603. 3
92090646604. 4

Question Number : 51 Question Id : 92090611802 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

W%-memmﬂmﬁmm%ﬁmwasmﬁﬁw
T 87

M D3MQ&H 2) D3R T3 (clock) B
33 Q¥RQA 4 QAR Q B
Options :

92090646601. 1
92090646602. 2
92090646603. 3



92090646604. 4

Question Number : 52 Question Id : 92090611803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall transmittance for the signal flow graph shown in figure is

1/a
X1 ¥ Xs X3¢ f—i”'

1/a

1. &

2 a’

3. 2

4. 2a°

Options :

92090646605. 1
92090646606. 2
92090646607. 3
92090646608. 4

Question Number : 52 Question Id : 92090611803 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

for & gifu 1Y, Hod vartg e & fore et Tvon fare & avra 7
1/a

s
x; &2 a2 x
c.t—)—‘( X5 4}%4
4

m a&° @ a
k) 2a° @) 2a°

Options :



92090646605. 1
92090646606. 2
92090646607. 3
92090646608. 4

Question Number : 53 Question Id : 92090611804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The overall transfer function for the block diagram shown in figure is

R C
2

1) 1+ G1

2

\
2 L r‘i - LE
2 Gj
g =
2
4. 1
Options :

92090646609. 1
92090646610. 2
92090646611. 3
92090646612. 4

Question Number : 53 Question Id : 92090611804 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau o o & forw o slaftd B FTAA AN 2

(3)

Options :

92090646609. 1
92090646610. 2
92090646611. 3
92090646612. 4

Question Number : 54 Question Id : 92090611805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The transfer function of two compensators is given as

s+30 ~30(1+5)

Tl ST

The correct statement is

1. G, is a lead compensator and C is a lag compensator
2. C,is alag compensator and C, is a lead compensator
3. G4 and G, both are lead compensator

4. C, and C, both are lag compensator

Options :

92090646613. 1
92090646614. 2
92090646615. 3
92090646616. 4

Question Number : 54 Question Id : 92090611805 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



2 ufaeIi &1 iaftd wem 82

5430 oo _30(1+s)
17 30(s+ 1) 2" (30 +s)

al fufafaa &4 @19 a1 ey= 3fa €2
(1) €, U 3 Uiaa1iea § o ¢, U Uy ufaaiied g
@ Cy iy el § SR ¢, U s wfoef )
3) €, AR C, oMl 3yl g
@)  Cy IR C, T uy ufaeTiE B

Options :

92090646613. 1
92090646614. 2
92090646615. 3
92090646616. 4

Question Number : 55 Question Id : 92090611806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
1

s3+As2+Bs+5
stable for constraints

H(s)= , is the transfer function of a system. The system is

1. A<Oand AB<5
2 A=0and AB<5
3. A>0and AB>5
4. A<Oand AB=5

Options :

92090646617. 1
92090646618. 2
92090646619. 3
92090646620. 4

Question Number : 55 Question Id : 92090611806 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



afy H(s) - ! forelt Py 1 ofafta wer § @ P #9193 a5y ¥ R

s+ As2+Bs+5

et g1 e
(1) A<0 3R AB<5 2 A=03R AB<5
3) A>03R AB>5 @) A<0 3R AB>5
Options :

92090646617. 1
92090646618. 2
92090646619. 3
92090646620. 4

Question Number : 56 Question Id : 92090611807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A polar diagram, which represents a lag network, is

.-'\-.||'”__II
: I/\ﬁl
w=0 w=o e
A;m
w=0 Ww=oo
] EE‘
A,l'm
3 /—\
w=o0 w=0 Re
f\rm
w:-u"c w= R.
4 \ /

Options :
92090646621. 1



92090646622. 2
92090646623. 3
92090646624. 4

Question Number : 56 Question Id : 92090611807 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

s ydta o, St U Uy ufkuel &) qefar € -
S Ifm
(1) /_\1
w=0 W= Re
Afm
=0 =00
@ . TR
-l\'\ !
\‘h‘.__ _f’/
' jm
3) ,/_\
W= w=0 e
' fm
=0 =0
{4} W|II wlll RE

Options :

92090646621. 1
92090646622. 2
92090646623. 3
92090646624. 4

Question Number : 57 Question Id : 92090611808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The open-loop DC gain of a unity negative feedback system with closed-loop

transfer function i is

252 +58+8

L2 ] —
Wth ojw  h|ow

I
L3 | co

Options :

92090646625. 1
92090646626. 2
92090646627. 3
92090646628. 4

Question Number : 57 Question Id : 92090611808 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T U, HUTHF, TR0 B/ 3 Gelt o pe afs, 9 ur sfald e —S >

. 2s% +55+8
,(BIAFE -
3 3
(1) 5 (2) 3
5 8
3 - MY
(3) 3 (4) 3
Options :

92090646625. 1
92090646626. 2
92090646627. 3
92090646628. 4

Question Number : 58 Question Id : 92090611809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The noise transfer function Sis) of the given system is
N(S)g(s)-0
N(s) noise
Ri(s) Jr S Cls)
—-L 6 0L e
H1 g

1 5
. 1+ GzHr] + G"lGEHE
2 &
3. G,
'1 - GJ]H:Z — GJ]GzHZ
¥ GG,
" 1-GpHy - G4GoHy
Options :

92090646629. 1
92090646630. 2
92090646631. 3
92090646632. 4

Question Number : 58 Question Id : 92090611809 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fau v Ay 1, W Siafvd B Cls) HTAF |
N(s)Ir(s)-0
(s)
R(s) . ,LN{S} noise Cls)

% 1 Py
e vu®, *| Gy s Gs *

1 | HI -‘
Hy

(1) Z @ G
1+ G_';_rH—*| + GrIGsz 1+ Gqu + G'IGZHE
Gy GGz
3 4
3 1- G1H2 - G1GEH2 @ 1- GZH1 - G1GEH2

Options :

92090646629. 1
92090646630. 2
92090646631. 3
92090646632. 4

Question Number : 59 Question Id : 92090611810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The gate used in a DPSK modulator is

1. NOR

2. NAND

3. XNOR

4. OR
Options :

92090646633. 1
92090646634. 2
92090646635. 3
92090646636. 4

Question Number : 59 Question Id : 92090611810 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



DPSK Hige® H &1 91 gaR (1) JudRT faa it 82

(1) NOR (2) NAND
(3) XNOR [4) OR
Options :

92090646633. 1
92090646634. 2
92090646635. 3
92090646636. 4

Question Number : 60 Question Id : 92090611811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A sinusoidal signal is sampled at 10 kHz and quantized by using 10 bits uniform
quantizer. The values of bit rate and (SNR)q in this case are

1. 100 kbps, 61.6 dB
2. 100 kbps, 10 dB

3. 50 kbps, 61.6 dB
4

50 kbps, 10 dB

Options :

92090646637. 1
92090646638. 2
92090646639. 3
92090646640. 4

Question Number : 60 Question Id : 92090611811 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U SOTdeh T Gdbd $1, 10 kHz T, 10 AW (428 & UF 0 WP &1 J0 1 &
ufdefRia oo oiran 81 39 s/@ea A o9 (@ed) X 3R (SNR)q &1 HIF &1 gH?

(1) 100 kbps, 61.6 dB (2) 100 kbps, 10 dB
(3) 50 kbps, 61.6 dB (4) 50 kbps, 10dB
Options :

92090646637 1
92090646638. 2
92090646639. 3



92090646640. 4

Question Number : 61 Question Id : 92090611812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To avoid slope overload distortion in delta modulation for m(t) = 10cos(2,000xt)
to maintain minimum (SNR)qg (Signal to Quantization Noise Ratio), the minimum
required sampling rate is

i 10t samples/sec
2 108 samples/sec
3. 108 samples/sec
4. 10'° samples/sec

Options :

92090646641. 1
92090646642. 2
92090646643. 3
92090646644. 4

Question Number : 61 Question Id : 92090611812 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST }Igad B, Uaural sffaqr fasfa, |, 999 & o m(t) = 10cos(2,000xt) & ferg, =gaH
(SNR)q (¥ ¥ RS0 3@ &) P €91¢ T F g, gaw oravass v & a1
I

(1 10 ufaedi/Advs 2) 10° ufaedi/d%us
(3) 10 ufdediA®vs 4) 10" ufdeyid%vs
Options :

92090646641. 1
92090646642. 2
92090646643. 3
92090646644. 4

Question Number : 62 Question Id : 92090611813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The biggest advantage of generating an FM signal from the PM signal is
1. design simplicity
2. very high centre frequency stability
3. response linearity
4.  limiting the frequency deviation

Options :

92090646645. 1
92090646646. 2
92090646647. 3
92090646648. 4

Question Number : 62 Question Id : 92090611813 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
U PM U d A FM Hd $1 3T 3 &1 Ga8 FS1alH ¢ -

(1) ooz wad 2) wgd SN I gl fRRa
(3)  SFfehar usETdar (e @) g faaes &1 diftra &
Options :

92090646645. 1
92090646646. 2
92090646647. 3
92090646648. 4

Question Number : 63 Question Id : 92090611814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A superheterodyne receiver to operate in the frequency range 550 kHz to
1500 kHz and the IF is 455 kHz. What is the possible tuning range of local
oscillator frequency?

1.  95-1005 kHz
2. 1005-1955 kHz
3. 1555-3455kHz

4, 1460-2410 kHz
Options :



92090646649. 1
92090646650. 2
92090646651. 3
92090646652. 4

Question Number : 63 Question Id : 92090611814 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

UF gewerd fEpm & 8 @1 omgfd uRWss0 kHz @
1500 kHz 3R IF, 455 kHz R S $Hdl g1 WY Sas smafy &t dya Jreaor aRER &1

&7

(1) 95-1005kHz (2) 1005-1955kHz
(3) 15553455 kHz (4) 1460-2410 kHz
Options :

92090646649. 1
92090646650. 2
92090646651. 3
92090646652. 4

Question Number : 64 Question Id : 92090611815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If X is a Gaussian random variable with mean zero and variance 10, the
differential entropy of X'is

1. 1.52 bits

2. 3.8 bits

3. 22bits

4. 5.6 bits
Options :

92090646653. 1
92090646654. 2
92090646655. 3
92090646656. 4

Question Number : 64 Question Id : 92090611815 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



uﬁgwmmﬁiﬁm%ﬁﬂ'ﬂaﬂmwaﬁ?mm%axaﬁmm
R

(1) 1.52 39 (feem) (2) 3.8 3 (ferem)
(3) 2.2 3w (fEew (4) 5.6 39 fae
Options :

92090646653. 1
92090646654. 2
92090646655. 3
92090646656. 4

Question Number : 65 Question Id : 92090611816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If V; and V; are the 3-dimensional subspaces of the 4-dimensional vector space,
then the smallest possible dimension of W, n\5 is

1. One

2. Two

3. Three

4. Four
Options :

92090646657. 1
92090646658. 2
92090646659. 3
92090646660. 4

Question Number : 65 Question Id : 92090611816 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe v, 3R v, 4-farita afeeranfy & 3 fafla Suaaf® 8 &t v, v, @t @ 31t dva fam
&1 gt

1) TP @ d
3) dHF (4) TR
Options :

92090646657. 1



92090646658. 2
92090646659. 3
92090646660. 4

Question Number : 66 Question Id : 92090611817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The power spectral density of a real process X(t) for positive frequencies is
shown in figure. Then what is the value of Ry (O) where Ry (T) is the auto-
correlation of X(t)

10+ 4 106 (f —9000)
2__ _____ R E——
> f
8k 9k 10k
1. 8000
2. 4000
3. 4010
4. 8020
Options :

92090646661. 1
92090646662. 2
92090646663. 3
92090646664. 4

Question Number : 66 Question Id : 92090611817 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



UF aRdfas UEH X(t) @ 9T seRl ¥ i ufdy Weed mrEd) uva B @
fevaman 1 €1 & Ry (O) &1 HIF &1 G2 T Ry (T), X(t) T WUgHEY &

10} » 105 (f —9000)
2__ _____
> f
8k 9k 10k
(1) 8000 (2) 4000
(3) 4010 (4) 8020
Options :

92090646661. 1
92090646662. 2
92090646663. 3
92090646664. 4

Question Number : 67 Question Id : 92090611818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The first stage of a two-stage amplifier has a voltage gain of 10, input resistance
600 2, equivalent noise resistance 1600 2 and output resistance 27 k(1. For
a second stage, these values are 25, 81kQ and 1 MQ | respectively. If it is driven
by the generator with output impedance 50 Q, find the noise figure of the
amplifier.

1. 384

2. 394

3. 1.002

4. 204
Options :

92090646665. 1
92090646666. 2
92090646667. 3
92090646668. 4

Question Number : 67 Question Id : 92090611818 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Udh ) a1 Uaties &1 ggall iawyl 1 diee sl 10 g, Fraw ufadiy 600 o, Tefta @ ufady
1600 © 3R fFrf ufeRiy 27 ko §1 T sEwyr & fore 9a1 9F FH: 81k 3R 1M
1 afe 7% U 93 gR1 g o ¢ forgs! e ufder 50 o & o udesr @ 99 39
Hifery |

(1) 384 (2) 394
(3) 1.002 4) 204
Options :

92090646665. 1
92090646666. 2
92090646667. 3
92090646668. 4

Question Number : 68 Question Id : 92090611819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An antenna has power gain of 10, directive gain of 20 and loss resistance of
30 Q; the radiation resistance is

1. 10Q
2. 20Q
3. 3W0Q
4. 400
Options :

92090646669. 1
92090646670. 2
92090646671. 3
92090646672. 4

Question Number : 68 Question Id : 92090611819 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ufg e et @) &1 fFa @fe 10 8 SR @fd 20 § SR & wiekily 30 @ § o Iue
fafas2or ufeRty @ ghm?

(1) 100 (2) 200
3) 300 @) 400



Options :

92090646669. 1
92090646670. 2
92090646671. 3
92090646672. 4

Question Number : 69 Question Id : 92090611820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

An evanescent mode occurs when
1. awave is attenuated rather than propagated
2 m=n=0 so that all field components vanish
3. the propagation constant is purely imaginary
4

the wave frequency is same as the cut-off frequency

Options :

92090646673. 1
92090646674. 2
92090646675. 3
92090646676. 4

Question Number : 69 Question Id : 92090611820 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Ie arrorgret fen @ € o

() o daiva e g afes afivfiga it 8
20 m=n=0 3ufd @it &5 2 GAE § E I g1
3) Hu feris qufa: el g

4) T angfa AN sias amgfy wHE it ¥
Options :

92090646673. 1

92090646674 2

92090646675. 3

92090646676. 4

Question Number : 70 Question Id : 92090611821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In cylindrical coordinates, equation

22 1 ~2
7 el )
F =L+ L +132=0
ép° PO &z

isa

1. Laplace’s equation

2. Helmholtz's equation

3. Poisson's equation

4. Lorentz's equation
Options :

92090646677. 1
92090646678. 2
92090646679. 3
92090646680. 4

Question Number : 70 Question Id : 92090611821 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qot e e 7

Fzg’ﬂf—“’ ‘"2‘2"+132=n

p PO Bz
U gl
(1)  arer gt (2) TeHEIeCS HISHR
(3)  UiaH gHtEI (4) TCH gHIEHI
Options :

92090646677. 1
92090646678. 2
92090646679. 3
92090646680. 4

Question Number : 71 Question Id : 92090611822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



In a certain medium E = Ecnsl[Ex’IDBt -5y)a, VIm What type of medium is it?

1. Perfect conductor

2. Perfect dielectric

3. Free space

4. Lossless dielectric
Options :

92090646681. 1
92090646682. 2
92090646683. 3
92090646684. 4

Question Number : 71 Question Id : 92090611822 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
fpeft WA # E = 6cos(2x108t - 5y)a, Vim Ig HIEHH B d UHR $1 87

1) gof gras @ gof urdgygd
(3) T MBI (4) BTEEH URAEYd
Options :

92090646681. 1
92090646682. 2
92090646683. 3
92090646684. 4

Question Number : 72 Question Id : 92090611823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the maximum number of subnetworks for the default mask 255.255.0.0
and subnet mask 255.255.224.07

1. 8
2. 16
3. &
4. 64

Options :



92090646685. 1
92090646686. 2
92090646687. 3
92090646688. 4

Question Number : 72 Question Id : 92090611823 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U faay ARE 255.255.0.0 3% UF JUGTd HRE 255.255.224.0 & fore Iuufvay 1 sifeean
BT 87

(1 8 (2) 16
(3) 32 (4) 64
Options :

92090646685. 1
92090646686. 2
92090646687. 3
92090646688. 4

Question Number : 73 Question Id : 92090611824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not transition strategy from IPv4 to IPv6?

1.  Dual stack

2. Tunneling

3. Header translation

4. Variable length prefix
Options :

92090646689. 1
92090646690. 2
92090646691. 3
92090646692. 4

Question Number : 73 Question Id : 92090611824 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofafaa § 9 &9 @, 1pva & 1Pve BT HeprU Hifd 781 82

(1)  &deR (&d) 2 JuH
(3)  ee (@iufh g (4) =R ddrs Mfteay (gduay)
Options :

92090646689. 1
92090646690. 2
92090646691. 3
92090646692. 4

Question Number : 74 Question Id : 92090611825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The full form of MQTT is

1.  Management Query Transfer Tool

2.  Message Query Telemetry Transport

3. Message Queuing Telemetry Transport

4. Management Queuing Telemetry Tool
Options :

92090646693. 1
92090646694. 2
92090646695. 3
92090646696. 4

Question Number : 74 Question Id : 92090611825 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

MQTT &1 [T &1 § -

(1 B ST Tl ¢ 2) IO SR eaded e
(3)  HeroEe Ry e orEd (4) BT R CeH TE
Options :

92090646693. 1
92090646694. 2
92090646695. 3
92090646696. 4



Question Number : 75 Question Id : 92090611826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The sampling theorem is applicable to continuous time band
limited signal.
Reason (R) : The sampling theorem is applicable to stochastic signal.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

92090646697. 1
92090646698. 2
92090646699. 3
92090646700. 4

Question Number : 75 Question Id : 92090611826 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R @ FYF AU MU §: 0P HUGYT (Assertion A) F ¥U H fifEd § O gE ITF SR
(Reason R}a;'Fq ﬂ;

APy A - ufcas wia $ad ddad wia 8 difa SHa w® ar g €
HRUIR: yfereras WG uyTed Sddl W arL el g
JWIed HY- & 3ireits H, 19 fau mu faeedt ¥ 9 ga@ 3uga I &1 994 Sifore

(1) AMRRIATEIE SRR A TS TR

2) ASMRREH GEl € Af r A B UE cren T 8
3) AUSE Af R UG TSN ©

(4) A HEITE g, AP R T @



Options :

92090646697. 1
92090646698. 2
92090646699. 3
92090646700. 4

Question Number : 76 Question Id : 92090611827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : A system is called causal if its output y(f) at an arbitrary time
t =ty depends on only the input x(t) for t <tg.

Reason (R) : Inacausal system, it is not possible to obtain an output before
an input is applied to the system.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)is true but (R) is false

4. (A)is false but (R) is true

Options :

92090646701. 1
92090646702. 2
92090646703. 3
92090646704. 4

Question Number : 76 Question Id : 92090611827 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



a1 ByA U M0 § TP HUFYA (Assertion A) F FU  H fif@d g O gE I9F RO

{Reason R) & ¥4 T

syt a . @ Pl @) TR wean € a9k S Femo oy el
TEfEHYY t = t, W Had IG& FHa9 x(f) WANR S E (1<, & {Q

HRUIR: U% $RUTES Ao § g dva a8 ¢ & Frfo & ARg 29 § wa
UTC e o T |

IR BYA & HTare 3§, - 3y e fasedl & @ 999 Iy IR &1 997 Sifag

(1) AR E E R R A B W TSN B

2  ASRREH 6l g dfF R A 3 ¢ rEn T8 §
3) AWeE dfhTREE TR

(4  A¥g el ¢, Afb- R Wel 8

Options :

92090646701. 1
92090646702. 2
92090646703. 3
92090646704. 4

Question Number : 77 Question Id : 92090611828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) :  Emitter-follower configuration of BJT is used for impedance-
matching applications.

Reason (R) : Inacommon-collector configuration of BJT, the output voltage
at the emitter is in phase with input signal.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :
92090646705. 1



92090646706. 2
92090646707. 3
92090646708. 4

Question Number : 77 Question Id : 92090611828 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I @ HY AU MU & U HHBUA (Assertion &) F TU H fifEd ® @ gER1 IUF FRUI
(Reason R}?F‘-’I ﬁ;

sfirpy a - m%gamﬂ%&rﬂﬁrﬁwmaﬂm,mmgﬁmmﬁm
STl & |

HNUR g;gﬁammmmﬂmmmmmmmﬁ
|

ST HYF & 3Teilsd #, T fu 7 feadl # 4 9ad Iuga Ik &1 994 Fifew

(1) ASMRRIH TEl § 3R R A P! ULl SIRET B
2) ARREH HEl € afba R A Pl el BN A8l §
3) AUDNE AFIRTE TR
4) AUE TR g AfF R UE B
Options :
92090646705. 1
92090646706 2

92090646707. 3
92090646708. 4

Question Number : 78 Question Id : 92090611829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : In an operational amplifier circuit, negative feedback is used
to avoid operational amplifier to go into saturation.

Reason (R) : The negative feedback degenerates the output voltage
amplitude and in turn reduces the voltage gain.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)is true but (R) is false
4,  (A)is false but (R) is true

Options :

92090646709. 1
92090646710. 2
92090646711. 3
92090646712. 4

Question Number : 78 Question Id : 92090611829 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 3 Fy AU MU § UF HfHYF (Assertion A) F U i@ § O gE IUF BRI
(Reason R}?F‘-‘I ﬁ;

sfirpet A - U dftrmare vasls afvmer B, smrars gk &1 3, e uads
& Ugfta § 9 91 & fore fvan Sran €1

FRUIR - FBUeE YR, Ffn dicedr smam &1 JUgr #dT § 3R 39 a¥g dieedl
el &1 &HH B Sl ¢

JURIG HYH & 3ol H, I fU MU faded! # 8§ 9ad Jugdd 3T &1 994 I

(1) ASMRRIA TSI § R R A P TS REm §

2) ASIRRGH Gl g dfb r A P el urEn gl §
3) AYEE afeTRud T 8

4 ATSTEE AFTREE S

Options :




92090646709. 1
92090646710. 2
92090646711. 3
92090646712. 4

Question Number : 79 Question Id : 92090611830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : The ENABLE input of an m:2™ decoder can be used to
increase its size.

Reason (R) : The ENABLE inputinan m:2™ decoder can be used as the

(m+1)" input to result in a (m+1): 2™1 decoder.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3.  (A)istrue but (R) is false
4. (A)is false but (R) is true

Options :

92090646713. 1
92090646714. 2
92090646715. 3
92090646716. 4

Question Number : 79 Question Id : 92090611830 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646713. 1
92090646714. 2
92090646715. 3
92090646716. 4

Question Number : 80 Question Id : 92090611831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements, one is labelled as Assertion (A) and the other
is labelled as Reason (R) :

Assertion (A) : In an impedance, Smith chart point r=0, x=0 represents
open-circuit point.

Reason (R) : In an impedance, Smith chart, [r=-1and li=0 represents
r=0and x=0.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both (A) and (R) are true and (R) is the correct explanation of (A)

2. Both (A) and (R) are true but (R) is not the correct explanation
of (A)

3. (A)istrue but (R) is false
4. (A)is false but (R) is true



Options :

92090646717. 1
92090646718. 2
92090646719. 3
92090646720. 4

Question Number : 80 Question Id : 92090611831 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646717. 1
92090646718. 2
92090646719. 3
92090646720. 4

Question Number : 81 Question Id : 92090611832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

3x-2

for D<x=<1

Statement-l : f(x)= sin(x —1)
——— for

x5
(x-1)

Function is continuous at x =1

1

xex
Statement-Il :  f(x)= :- x#0
0

1
X
- x=0
Function is continuous at origin.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true
2. Both Statement-| and Statement-Il are false
3. Statement-| is true but Statement-I| is false
4.

Statement-l is false but Statement-Il is true

Options :

92090646721. 1
92090646722. 2
92090646723. 3
92090646724. 4

Question Number : 81 Question Id : 92090611832 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646721. 1
92090646722. 2
92090646723. 3
92090646724. 4

Question Number : 82 Question Id : 92090611833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-| :  Fourier series of any periodic signal x(f) can only be obtained
if x(t) is absolutely integrable over any period.

Statement-Il : Fourier series of any periodic signal x(t) can only be obtained
if x(t) has a finite number of discontinuities within finite time
interval of t.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-|| are true

2. Both Statement-| and Statement-Il are false

3.  Statement-l is true but Statement=Il is false

4.  Statement-l is false but Statement-Il is true
Options :

92090646725. 1
92090646726. 2
92090646727. 3
92090646728. 4

Question Number : 82 Question Id : 92090611833 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :



92090646725. 1
92090646726. 2
92090646727. 3
92090646728. 4

Question Number : 83 Question Id : 92090611834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : Velocity saturation in silicon occurs at high electric fields.
Statement-ll : Mobilities due to two scattering mechanisms (4 and - ) add
; 1 1 1
up inverselyas — = —+—.
nooBg Hp

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-II are true
2. Both Statement-| and Statement-I| are false
3. Statement-| is true but Statement-lIl is false
4.

Statement-| is false but Statement-Il is true

Options :

92090646729. 1
92090646730. 2
92090646731. 3
92090646732. 4

Question Number : 83 Question Id : 92090611834 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646729. 1
92090646730. 2
92090646731. 3
92090646732. 4

Question Number : 84 Question Id : 92090611835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-l : The r, model has advantage that the parameters are defined
by the actual operating conditions.

Statement-Il : The parameters of the hybrid equivalent circuit are defined in
general terms for any operating conditions.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true

2. Both Statement-| and Statement-Il are false

3. Statement-I| is true but Statement-ll is false

4.  Statement-l is false but Statement-Il is true
Options :

92090646733. 1



92090646734. 2
92090646735. 3
92090646736. 4

Question Number : 84 Question Id : 92090611835 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A1 @ sy e 8
HYA | : r, Hied &1 98 M ¢ (& 390 UETd arafds wareH fufadt grr afeufta 81 8

YA Il ; aaﬂ%gmwﬁqﬂﬁm,wmﬁ.mmﬁwﬁrﬁm%mmmﬁa
Bid Bl

ST YA & Mdie H, A fou mu fAeel | 4 g8 3o &1 904 Sifon

(1) HY IR T g

@ YA SR A e

(3) @Y1 HA g, At S 1 S 8
@) YA HTY B, A w11 gA 8

Options :

92090646733. 1
92090646734. 2
92090646735. 3
92090646736. 4

Question Number : 85 Question Id : 92090611836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-l : In the fixed-bias configuration of an n-p-n, BJT operating in
the active regime, the magnitude of collector current does not
depend on R .(See the figure)

Vee

Statement-ll : In the fixed-bus configuration shown in figure, base current is
controlled by Rg.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-I and Statement-Il are true
2. Both Statement—| and Statement-Il are false
3. Statement-l is true but Statement-Il is false

4. Statement-l is false but Statement-ll is true
Options :
92090646737. 1
92090646738. 2
92090646739. 3
92090646740. 4

Question Number : 85 Question Id : 92090611836 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646737. 1
92090646738. 2
92090646739. 3
92090646740. 4

Question Number : 86 Question Id : 92090611837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement-l : In a linear block code, NAND operation of any two valid
codewords creates another valid codeword.

Statement-ll : To guarantee correction up to t errors in all cases, the
minimum Hamming distance in a block code must be
dmin =2t+1.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-|l are true

2. Both Statement-| and Statement-Il are false

3 Statement-| is true but Statement-Il is false

4.  Statement-l is false but Statement-Il is true
Options :

92090646741. 1
92090646742. 2
92090646743. 3
92090646744. 4

Question Number : 86 Question Id : 92090611837 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :
92090646741. 1
92090646742. 2



92090646743. 3
92090646744. 4

Question Number : 87 Question Id : 92090611838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements :

Statement-1 : The magnetic field is solenocidal; the divergence of the
magnetic flux density is zero.

Statement-Il : The magnetic flux is conserved; the total net flux through any
closed surface is not zero.

In the light of the above statements, choose the correct answer from the options
given below.

1 Both Statement-| and Statement-Il are true

2. Both Statement-| and Statement-Il are false

3.  Statement-l is true but Statement-Il is false

4. Statement-| is false but Statement-Il is true
Options :

92090646745. 1
92090646746. 2
92090646747 3
92090646748. 4

Question Number : 87 Question Id : 92090611838 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646745. 1
92090646746. 2
92090646747. 3
92090646748. 4

Question Number : 88 Question Id : 92090611839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement-I : The tangential component of the electric field intensity is
continuous across an interface between two general
materials, regardless of charge densities on the surface.

Statement-ll : The tangential component of the electric flux density is
discontinuous across the interface. The discontinuity is equal
to the ratio between the permittivities of the materials.

In the light of the above statements, choose the correct answer from the options
given below.

1. Both Statement-| and Statement-Il are true

2 Both Statement-| and Statement-Il are false

3.  Statement-| is true but Statement-Il is false

4. Statement-| is false but Statement-Il is true
Options :

92090646749. 1
92090646750. 2
92090646751. 3
92090646752. 4

Question Number : 88 Question Id : 92090611839 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646749. 1
92090646750. 2
92090646751. 3
92090646752. 4

Question Number : 89 Question Id : 92090611840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are correct for X, Y as random variable
A H(X)zH(X!Y)

B. H(X+Y)<H(X)+H(Y)

C. If X and Y areindependent H(X/Y)=H(Y /| X)

D. Mutual information /(X Y)=H(X/Y)-H(Y | X)

E. If X and Y areindependent /(X;Y)=0

Choose the correct answer from the options given below.
1. A, C,Eonly
2. A,B,Donly
3. B,C,Donly
4. A, B,Eonly

Options :
92090646753. 1



92090646754. 2
92090646755. 3
92090646756. 4

Question Number : 89 Question Id : 92090611840 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFroffad # @ o g@ifes x Ry =9 & fae 3fua @2
A H(X)zH(X!Y)

B. H(X+Y)<H(X)+H(Y)

C. T xRy WHEH H(X/Y)=H(Y/X)

D. URMR® &1 I(X:Y)=H(X1Y)-H(Y!X)

E. afg X8R Y Wad
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(2) %99 A, BIRD

(3) ®dd B, C3RD
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Options :

92090646753. 1
92090646754. 2
92090646755. 3
92090646756. 4

Question Number : 90 Question Id : 92090611841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Consider the following three equations :
2x+3y+5z=9, Tx+3y—-2z=8, 2x+3y+iZ=n
A. For 4«5, system will have a unigue solution.
B. For A=5, n#9, system will have infinite solution.
C. Ifi=5 and p=9, system will have infinite solution.
D. For p=9, system will have no solution.

E. For L=5, system will have no solution.

Choose the correct answer from the options given below.

1. A, Conly

2. B,Donly

3. AB,Eonly

4. A, C,Eonly
Options :

92090646757. 1
92090646758. 2
92090646759. 3
92090646760. 4

Question Number : 90 Question Id : 92090611841 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646757. 1
92090646758. 2
92090646759. 3
92090646760. 4

Question Number : 91 Question Id : 92090611842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The aliasing effect can be minimized by
A. selecting sampling frequency wg > 2w,
B. selecting sampling frequency wg < 2w,
C. selecting sampling frequency w, <w_,
D. using anti-aliasing filter
Choose the correct answer from the options given below.
1. A and B only
2. BandC only
3. CandDonly
4.  AandD only

Options :

92090646761. 1
92090646762. 2
92090646763. 3
92090646764. 4

Question Number : 91 Question Id : 92090611842 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646761. 1



92090646762. 2
92090646763. 3
92090646764. 4

Question Number : 92 Question Id : 92090611843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which property is true for convolution integral?

Ao hy(t)=ho(t)=ho(t)* hy(t)

B.  [h(t)+hy(t)]* hg(t) = hy(t)* h(t)+ ha(t)* ha(t)
C.  [m(t)+ho(t)] * ha(t) = hy(t)hs(t) + ho(t)hs(t)

D.  hy(t)=hy(t) = hao(t)hy(t)

Choose the correct answer from the options given below.
1. AandB only
2. BandC only
3. CandDonly
4. AandC only

Options :

92090646765. 1
92090646766. 2
92090646767. 3
92090646768. 4

Question Number : 92 Question Id : 92090611843 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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A h1{f}*h2{f}=ﬁ2{f}*ﬁ1{f]

B.  [hy(t)+ho(t)]= ha(t) = hy(t)* by (t) + ha(t)* ha(t)
C. [y(t)+ha(t)]* ha(t) = hy(t)ha(t) + ha(t)ha(t)

D.  hy(t)* hy(t)= ha(t)hy(t)
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Options :

92090646765. 1
92090646766. 2
92090646767 3
92090646768. 4

Question Number : 93 Question Id : 92090611844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which statements are true?

A. Electric field, £(x), in a semiconductor is directly proportional to the slope
of the intrinsic Fermi level.

B. Continuity equation is a mathematical representation of Fermi-Dirac
distribution function.

C. Depletion width in a P-N junction is equal to its Debye length.
[

D. Diffusion current density for holes is equal to :—qu d,z{x}]
X

1

Choose the correct answer from the options given below.

1.  Aonly

2. BandC only

3. Donly

4. AandD only
Options :

92090646769. 1
92090646770. 2
92090646771. 3
92090646772. 4

Question Number : 93 Question Id : 92090611844 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

92090646769. 1
92090646770. 2
92090646771. 3
92090646772. 4
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Which statement(s) is/are true?

A. The drain current in an enhancement-type MOSFET is inversely
proportional to the relative permittivity of the gate oxide.

B. The threshold voltage in an MOS capacitor does not depend on the gate
oxide thickness.

C. The drain current in an enhancement-type MOSFET is directly proportional
to the relative permittivity of the gate oxide.

D. The threshold voltage in an MOS capacitor depends on the gate oxide
thickness.

Choose the correct answer from the options given below.

1. AandB only

2. Aonly

3. Conly

4. CandD only
Options :

92090646773 1
92090646774. 2
92090646775. 3
92090646776. 4

Question Number : 94 Question Id : 92090611845 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁqﬁmﬁm%‘?

A. YaefU-UPHR & MOSFET H oarg faggd ol ER) 71T sMaugs & Smdiaa
wﬁqgawﬁﬁﬁmmmﬁ%

B. U@ MOS duifya &1 Sgdl diecdl, 1T naargs &1 Hierg o AR 78t St

C. Y& Ydef-UdR & MOSFET # 3arg faggd url, e saugs & smifée gdggdis
& U €|

D. TP MOS TYIia &1, Sgdl dieedl, T ASSS & Hiers W) AR S 81

1 fau o fased § ¥ Odt I &1 99 S
(1) &dd ASRB

2) Fad A

3) ad C

(4) &dd C3RD

Options :

92090646773 1
92090646774. 2
92090646775. 3
92090646776. 4

Question Number : 95 Question Id : 92090611846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—I with List=Il :

List—I List—II
(Signal) (Fourier Transform)
" adX(w)
(A) x(t=to) 0 dw
(B) e/0fx(t) (1) e /@%b X(w)
c =0 () X(o-og)
(D) (—jt)x(t) (IV)  JjoX(w)

Choose the correct answer from the options given below :

1. (A=) B)-(IV); (C)=(1): (D)=(1)

2. (Ay(I); (B)=(1): (C)y=(IV): (D)=(1I)

3. (A(II): (B)=(IlI); (C)=(IV); (D)~(1)

4. (A-(V); (B)-(1); (C)-(); (D)—(1)
Options :

92090646777. 1
92090646778. 2
92090646779. 3
92090646780. 4

Question Number : 95 Question Id : 92090611846 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gt 1 & 1 g 1 &1 e Fifn

Tl (Heva) et - (IR FaiaR)

(A)  x(t-tg) 5 dX(w)
dwm

®) el“'x(t) e/ x(w)

dx(t) m X(o-amg)
) dt
D) (—jt)x(t) (v  joX(o)
9 f3u v fawmedl § @ 9dl IR &1 99 Do

(1) (A)=(I), (B)-(IV), (C)=(1), (D)-(lI)
(2) (A)=(I1), (B)-(1), (C)-(IV), (D)-(1lr)
(3) (A)-(I), (B)-(1), (C)-(IV), (D)-(1)
(4) (A)-(IV), (B)-(1), (C)-(11), (D)-(1lr)

Options :

92090646777. 1
92090646778. 2
92090646779. 3
92090646780. 4

Question Number : 96 Question Id : 92090611847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=l with List=Il :

List-I List—I
(Circuits) (Components)
(A) In an ideal op-amp (I) A parallel RLC network in the
integrator feedback path
(B) Inan ideal op-amp (I1) An E-MOSFET is used that work
differentiator as switch
(C) Inan op-amp sample (lll) A capacitor is in feedback path

and hold circuit

(D) In an op-amp peaking (IV) A resistor is in feedback path
amplifier

Choose the correct answer from the options given below :
T (A(V): (B)=(I); (C)=(1); (D)1)
2. (Al B)-(I); (C)-(IV); (D)~(1)
3. (A (B)-(IV); (C)=(I1); (D)=(1)
4. (AY(lt); B)-(1): (C-(I); (D)-(V)

Options :

92090646781. 1
92090646782. 2
92090646783. 3
92090646784. 4

Question Number : 96 Question Id : 92090611847 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T 1 3 91y Y 1 H1 e e

- (afoy) T -1l (9Th)

W UHHEdEnEas () Ud guiae faggd ric fvgy g
op-amp § afegy @hm oy H|

(8) U Y op-amp )y TP E-MOSFET @I f&a & &9 #
Hadhdd o g

(©) U op-amp Ufdes my T HaiE g oy
3R gice Ry o

(D) U op-amp fERET®H (av) U Hicly gRor gy o
yad® A

A A M faFed! § 9 Tel 3T &1 994 S

(1 (A)-(1V), (B)-(), (C)-(), (D)-(1)
(2) (A)-(11), (B)-(1h), (C)-(1V), (D)-()
3) (A)-(11, (B)-(IV), (C)-(IN), (D)-(1)
(4) (A)-(II), (B)-(1), (C)-(M0), (D)-(IV)

Options :

92090646781. 1
92090646782. 2
92090646783. 3
92090646784. 4

Question Number : 97 Question Id : 92090611848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List—| with List—II -

List—I List—II
(Functional Blocks/Units) (Related Units/Parameters)

(A) Arithmetic logic unit (ALU) (1) Memory read/write

(B) Instruction register (1) Memory address
(C) Control unit (1) Opcode
(D) Program counter (IvV) Accumulator

Choose the correct answer from the options given below :

1. (AN, B)-(I); (C)-(I); (D))

2. (A)=(IIN); (B)=(IV); (C)~(1); (D)=(11)
3. (Ay-(); (B)-(IV); (C)-(lI); (D)~(1)
4. (A-(V); B-(I); (C)-(1); (D)~(11)
Options :

92090646785. 1
92090646786. 2
92090646787 3
92090646788. 4

Question Number : 97 Question Id : 92090611848 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Tt | & 1y g 0 & e $ifen

g1 (fopuiare sl S1S) gt 11 (et $a1s/Rnfiey)
(A) BTG oD IS (AaLy) ) AT TSR

(B) SEIEH IR ay T e
€ e gFe amy  SIHIS
(D) WRIH B3 (v) TPHHueR

4= e o el 1 O gt I =1 9 st

(1) (A)-(IV), (B)-(1n), (C)-(I), (D)-(1)
(2) (A)-(I), (B)-(1V), (Q)-(1), (D)-(II)
(3) (A)=(lIT), (B)-(IV), (C)=(H1), (D)-(1)
(4) (A)-(IV), (B)-(11), (C)-(1), (D)-(II)



Options :

92090646785. 1
92090646786. 2
92090646787. 3
92090646788. 4

Question Number : 98 Question Id : 92090611849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List—I with List-Il :

List— List—II
(Message Signal) (Nyquist Sampling
frequency)

(A)  m(t)=4sin2rx5x10%t - 3cos2nx8x 103t (1) 40kHz

(B) m(t)=2cos? 2nx10%t () 16 kHz
(C) m(t)=2sinc (2x10%t) (1) 6 kHz
(D) m(t)=5sinc?(3x103t) (IV) 20 kHz

Choose the correct answer from the options given below :

1. (AIV); B)-(lll); (C)=(I1); (D))

2. (A(); (B)AIL); (Cy(In); (D}(IV)

3. (A(I); (B)-(IV); (C)-(1); (D)-(1)

4. (A(I); (B)(1); (CH(IV); (D)=(lIT)
Options :

92090646789. 1
92090646790. 2
92090646791. 3
92090646792. 4

Question Number : 98 Question Id : 92090611849 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tl | & 1Y Gl 1 BT e Hifen

-1 (B W) g 1 (afrag amgf)
(A) m(t)=4sin27x5x103t-3cos2r7x8x10%t () 40kHz
(B) m(t)=2cos?2nx10% () 16 kHz
(Q mi(t)=2sinc (2x10%t) () 6 kHz
(D) m(t)=5sinc?(3x10%t) (IV) 20 kHz

1 feu U el A 9 el oW @1 A S

(N (A)-(1V), (B)-(11), (C)-(11), (D)-{I1)
() (A)-(1), (B)-(I), (C)-(1n, (D)-(IV)
(3) (A)-(1), (B)-(1V), (C)-(1), (D)-(IN)
(4) (A)-(11), (B)-(1), (C)-(1V), (D)-(11)

Options :

92090646789. 1
92090646790. 2
92090646791. 3
92090646792 4

Question Number : 99 Question Id : 92090611850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=| with List=Il :

List-I List-Il
(A) Faraday's law )y V-B=0
(B) Ampere's law )y v-D=p
(C) No monopole (1) ?x.l-_,':j..;.‘i_f
(o)
= 0B
(D) Gauss's law (IV) VxE=- e

ot
Choose the correct answer from the options given below :
1. (A(IV); (Bl (C)=(1); (D)=(1)
2. (A)(ln); (B)-(IV); (C)-(1); (D)-(11)
3. (AR(IV); (BY=(1l); (C)-(1); (D)-(1)
4. (A (B)=(); (C)=(1); (D}-(1V)

Options :

92090646793. 1
92090646794. 2
92090646795. 3
92090646796. 4

Question Number : 99 Question Id : 92090611850 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ol | & G = 1 & e i

G-I It -1l
W IS F1FEm m V.-B=0
(8) URRER &1 Fgw m v-D=p,
© TPy (1 vxﬁ:h%
D) Tied &1 Fam - @B
Ny WREosis
at
9 feu v fawedl § 9 T8l 3R &1 9 Sifor;

(1) (A)-(1V), (B)-(1), (C)-(, (L)-(1)
(2) (A)-(li), (B)-(IV), (C)-(N), (D)-(I)
(3) (A)-(IV), (B)-(IV), (C)-(1), (D)-(IN)
(4) (A)-(li, (B)-(), (C)-(N), (D)-(IV)

Options :

92090646793. 1
92090646794. 2
92090646795. 3
92090646796. 4

Question Number : 100 Question Id : 92090611851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List=I| with List=II :

List- List-I
(Technology) (Range)
(A) Bluetooth () 10cmto200m
(B) LoRa (1) 10mto20 m
(C) RFID () 1mto 100 m
(D) ZigBee (V) 2kmto 15 km

Choose the correct answer from the options given below :

1. (A-(); B)I); (C)-(): (D)-(IV)

2. (A1) (Bl (Cy=(1): (D)-(1V)

3. (A(I); B-(IV): (C)=(1); (D)=(1)

4. (A-(V); (B)=(Il1); (C)=(1): (D)~(1)
Options :

92090646797. 1
92090646798. 2
92090646799. 3
92090646800. 4

Question Number : 100 Question Id : 92090611851 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gl | & 1y G 1 5 AaE S

e (@eh-ifd) Tl -1 (TR
(A) dqcy ) 10cm-200m
(B) LoRa (M 1M0m-20m
(C}y RFID (i 1m-200m
(D) ZigBee vy 2m-15m
-4 fou U el § 9 9dl I &1 99 i

(1) (A)=(1), (BY-(11), (C)-(1), (D)-(IV)
(2) (A)=(I1), (B)-(11), (C)-(1), (D)-(IV)
(3) (A)=(1}, (B)-(IV), (C)-(1), (D)-(ll)
(4) (A)-(IV), (B)-(lD), (C)-(11), (D)-(1)

Options :

92090646797. 1
92090646798. 2
92090646799. 3
92090646800. 4



